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1 |ureafe fdered der 0 3 80 76 4 0 0 3 2 0 168 0 2 170 0
2 |wafe fdene wusias 5 4 154 85 4 3 1 3 2 1 262 0 6 268 0
3 [GIFRR R W @ 1 4 232 44 1 2 1 4 6 5 300 0 6 306 0
4 RIS $UeR Hlelol  GoldR] 3 8 263 132 7 3 0 1 4 2 423 0 8 431 0
5 [9fR & wd d3R 2 3 84 50 0 3 1 1 1 1 146 0 0 146 0
6 |@= SR EfE Tqd el arHaTon 7 4 216 108 6 6 2 2 4 1 356 0 6 362 0
7 ("0 fdo Iwe=T 7 0 343| 259 71 12 1 3 5 2 639 0 13 652 0
8 RNa SwaR dArafid [Jeme Shes 1 1 348 81 1 5 0 0 0 0 437 0 1 438 0
9 |urHe faemer Rema 2 1 49| 106 0 1 0 3 0 1 163 0 0 163 0
10 R greifie faered dadaic) 2 1 113 64 1 2 0 1 1 0 185 0 2 187 0
11 oo wfie fdere saae 0 3 95 85 5 0 0 3 2 0 193 0 4 197 0
12 Rt wafie e 9Re 1 0 104 42 3 1 3 0 5 2 161 0 2 163 0
13 Roor SwaR Arafd f[dered aReR 13 2 211 155 4 3 0 4 8 3 403 0 2 405 0
14 RISTHIT ve Bloel  dTdh 3 5 278| 159 6 0 0 2 2 3 458 0 5 463 0
15 RSO $7<X Bleisl Aot 4 3 247 230 10 14 0 1 5 1 515 0 3 518 0
16 [Rroter wafie faemer foaren 3 0 41 48 2 2 0 1 0 0 97 0 1 98 0
17 R qd wreafe fdarey gsars! 6 2 266 68 o 8 1 1 5 1 358 0 6 364 0
18 RoeR ITack ARG [denag arst 1 6 102 98 3 2 0 0 1 0 213 0 7 220 0
19 R gd areafie Geres Rod 6 1 145| 129 4 5 2 0 4 1 297 0 3 300 0
20 (o= qfR B wame R 3 7 219 178 2 7 0 3 6 2 427 0 7 434 0
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21 RIS 39S Plolol  AATOT 9 4 3 99| 104 3 2 1 2 3 2 223 0 5 228 0
22 R wefhe fderad FdRTed 0 3 106| 110 1 1 1 0 2 3 227 0 1 228 0
23 RISI@ 3R dlelel die (B.A.-1) 1 4 152| 131 5 2 2 2 1 2 302 0 2 304 0
24 RIS 39X FHlaol BT (6.7.-2) 3 5 168 138 2 5 3 2 3 3 332 0 7 339 0
25 R SRR BT Whd $oS 4 8 209| 184 5 6 0 5 3 3 427 0 2 429 0
26 [Roerg werfhe faenad @i 4 2 154 240 4 2 2 2 4 2 416 0 5 421 0
27 Rt grafye fQered garer 0 3 92 53 5 1 1 3 5 1 164 0 3 167 0
28 Roly gd Aegfie fqerad gqve 2 0 129/ 111 7 3] 3 4 5 1 265 0 4 269 0
29 RS SRR EE WHd gl 3 4 130 21 1 0 2 1 4 1 167 0 4 171 0
30 R wfie fqemad Aesi(S09r0) 1 2 119 54 3 1 1 3 0 0 184 0 3 187 0
31 R e faenad dee(@oHm) 3 2 130 91 6 4 1 2 4 0 243 0 6 249 0
32 R g f[Teray @ veR (SerR) 2 1 102 15 1 1 1 2 2 0 127 0 1 128 0
33 RIS gUCR Bleiol  HHAAYR(STR) 0 2 75 49 1 1 1 0 1 0 130 0 2 132 0
34  [RISTHIT 3UER PBlelol  SITHATETA 4 7 234 244 7 4 2 8 8 1 519 0 11 530 0
35 [rar wufie faenes wRiee 1 3 49 67 2 0 0 1 1 0 124 0 0 124 0
36 R e fdene™ Jurdre 0 5 167 71 3 5 3 0 5 1 260 0 4 264 0
37 R U Bl AEERET 12 9 428| 168 6 7 2 8 9 4 653 0 4 657 0
38 R Ui fdened RRTa 1 3 189 64 6 2 1 2 5 1 274 0 4 278 0
39  Roe wfes fered SavuamT 2 1 206 44 2 2 1 1 4 1 264 0 3 267 0
40 [T urtie fqemera faRRyor 1 1 131 46 4 1 1 0 5 2 192 0 1 193 0
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41 R urife [qemer fesars 7 4 216| 107 4 2 0 5 3 0 348 0 4 352 0
42 Roe yrafie faemerd SRl 5 1 103 72 6 0 0 1 5 0 193 0 2 195 0
43 Rrorerg yrafie faemera e 0 5 111| 134 3 2 0 1 3 5 264 0 4 268 0
44 Rrororm wrafis faere fve 4 2 166 87 5 6 1 3 6 1 281 0 5 286 0
45 RIS urife [qemer awed 2 2 126 90 7 3 1 1 2 0 234 0 3 237 0
46 Roteg g faemed o 2 3 138 43 0 2 0 8 10 4 210 0 2 212 0
47 Rorerm yrafie faerea a9 3 1 126 61 6 1 2 2 4 2 208 0 2 210 0
48 R e faere igad 0 1 45 64 51 5 1 3 1 0 125 0 2 127 0
49 R g fderey vds 2 1 128 60 1 2 1 1 2 0 198 0 3 201 0
50 R wfe fqenea deerard 0 1 129 70 2 3 0 0 3 0 208 0 1 209 0
51 Roor wrafie e fesar 2 7 124| 152 3 2 1 3 0 2 296 0 3 299 0
52 Roag enfies fdenad weald 1 1 47 40 3 0 0 2 3 2 99 0 1 100 0
53 R yrfe [Jened ssaic 0 3 89| 121 10 1 0 5 4 1 234 0 6 240 0
54 Rt wafis faemed o 2 0 150/ 103 8 5 0 2 6 3 279 0 7 286 0
55 [ wrufie fdeme e 1 2 85 52 1 1 0 1 2 2 147 0 3 150 0
56 [t e [demed e 2 0 186 71 4 1 0 1 2 0 267 0 1 268 0
57 R WrHfe [deneg sier 2 1 82 44 1 0 1 0 5 1 137 0 3 140 0
58 R yrfe [Genad axis] 1 0 83 82 3 2 1 3 1 0 176 0 3 179 0
59 [RIOT® gUeR Hlelol fderd 2 5 137| 183 3 4 2 3 3 1 343 0 3 346 0
60 Rt g faemed deft wH 1 2 97| 130 2 3 1 1 0 1 238 0 0 238 0
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61 RISTorg Urifde e WRN 2 3 195 101 2 0 4 3 4 3 317 0 3 320 0
62 RISty wrffe faErerd gRTervird 0 3 203 59 2 1 o 1 3 1 273 0 4 277 0
63 |9l 3UCR Hlelol  JAETSHT 1 3 268 102 3 0 0 1 5 3 386 0 4 390 0
64 [RNH ST "afie faeray dros 5 3 125 118 0 2 0 3 0 1 257 0 5 262 0
65 [Rrotara wirfie fdened pend 0 1 68 66 1 0 2 4 2 0 144 0 2 146 0
66 [RoTog UyrfAe fdEney seavs! 1 4 149| 102 1 0 0 1 5 0 263 0 2 265 0
67 Roog yrifie demey TR 3 4 226| 166 2 8 0 1 1 1 412 0 1 413 0
68 [RoTe STk drAfid fJerea  fRarsT 1 4 195 192 7 5 1 3 5 3 416 0 3 419 0
69 [Roer yrafie ferey oR 1 3 154 141 7 5 0 1 2 0 314 0 0 314 0
70 RT®R SRR 8IS Wha  feHre 0 1 143 72 1 3 2 3 4 0 229 0 0 229 0
71 RIS S geX Pletol, Ugd 2 4 249 145 6 2 4 6 13 1 432 0 11 443 0
72 [STAT $UER Bllol  IRYGUSTTC 1 4 398| 171 5 2 3 2 18 5 609 0 8 617 0
73 RoeN STk \eafie fere Sl 4 7 271 133 6 1 5 8 10 5 450 0 10 460 0
74 R urifie ey TEe 1 1 188 122 1l 14 1 5 4 0 337 0 2 339 0
75  |<iremadl ISTd gUeRk dlelol 9ol 6 2 235 133 4 6 3 4 3 3 399 0 12 411 0
76 [Roe gfAe [JEned dusSRT 8 1 204| 160 6 4 3 3 3 0 392 0 3 395 0
77 [RISTHIF ISR Hlelsl HUSRI (S0M) 2 2 187 90 3 3 2 4 4 2 299 0 3 302 0
78  |@1 qd Arafie e aeraTd 0 2 179 76 2 1 1 0 1 1 263 0 0 263 0
79 RS g fdered Xga 2 4 294 90 4 0 4 9 7 3 417 0 5 422 0
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80 [RoN ST Arafid fened dad 12 7 307| 215 8 6 0 7 9 3 574 0 6 580 0
8l RN® Iwawk ArIHG ey s 1 2 212 82 2 1 0 4 7 1 312 0 6 318 0

ISTHIT IR ArAHd ey T

82  |orrueft 5 4 221| 146 8 3 2 2 5 3 399 0 7 406 0
83 [T IR Ploldl  PHovigled &.9.—1 0 1 122 120 8 3 1 2 0 0 257 0 4 261 0
84 [RIOTHIY 3V Pleldl |, HooiaTd &.9.—2 3 3 207 188 2 3 0 2 4 1 413 0 5 418 0
85 [N 3T Pl HiaEd 1 3 168| 148 2 4 1 2 2 2 333 0 1 334 0
86 [T Urfie e eRTTe 4 3 107| 146 7 2 1 3 3 1 277 0 2 279 0
87 [ yrafie fened <ad 0 1 86 80 1 3 0 1 2 0 174 0 6 180 0
88 [ty Ui femerd Serrom 1 8 263| 214 9 4 0 6 3 4 512 0 10 522 0
89 [ urifie faemea weler 1 1 138 99 2 0 0 2 1 0 244 0 3 247 0
90 RN STEdk Arafie [aeread 99 0 1 87 73 0 0 1 2 2 2 168 0 1 169 0
91 Ra wafe fdene™ dgerTia 0 3 165 99 4 0 0 4 4 2 281 0 1 282 0
92 R wirfe faemed g 0 3 100| 136 2 2 0 3 2 2 250 0 6 256 0
93 RISTdIY SUCRHITSUC dlefel dewdic] 0 2 125 81 1 6 3 2 2 0 222 0 1 223 0
94 RN SwaR "afe faeray Ssars) 5 5 286 176 6 6 2 3 4 1 494 0 3 497 0
95 Rog wRifde [durey sgdarad 8 3 197| 220 7 3 0 7 5 5 455 0 0 455 0
96  [SHAT S.PTei, <dredl 1 7 239 138 1 3 3 7 3 5 407 0 8 415 0
97 R wrefie fErery gus 9 6 319| 208 7 4 2 7 4 4 570 0 7 577 0
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98 R gd Arafie [erad qurTia deel 7 1 190 106| 13 3 2 3 6 1 332 0 4 336 0
99 R UrIfd e g9 Heel 1 0 127 62 7 2 2 7 3 2 213 0 5 218 0
100  Roterg urerfie faermer, adferareria 5 1 97 54 0 4 2 0 7 1 171 0 3 174 0
101 Rromorg yrafie faemera  +dare 2 2 56 60 1 0 1 0 0 0 122 0 2 124 0
102 (A umE g Uie 0 3 317| 316 8| 12 0 4 1 0 661 0 5 666 0
103  [F9¥R gUex Hloiol Uil 3 1 269 304 5[ 11 1 1 1 0 596 0 1 597 0
104 | uiferar faemerd fagel <1g Uil 11 2 120 311 4 4 0 1 1 2 456 0 2 458 0
105 [faer wWus Hraferd giel 1 1 208| 113 0 5 0 1 0 0 329 0 1 330 0
106 [FvR urferar faemerd so—6 drel 10 2 320( 243 o| 15 0 3 1 2 596 0 2 598 0
107 [Rterm darga &fat arel 29 2 262| 458 10 16 1 6 1 0 785 0 17 802 0
108  |fS7elr vard drferd el 1 4 222| 428 6| 15 0 1 2 1 680 0 4 684 0
109 RIS H=IT gUex HIfSUS dloiol Urs! 4 2 159 108 0 4 0 0 0 0 277 0 1 278 0
110  |S0god0S0HI0URE! (FH0wH0—2) 3 2 136 134 0 5 0 0 0 0 280 0 1 281 0

IR By e HRITI TedTedl AvSAUTS]
111 |(ERerEd Pe) Hel | 2 23 1 257| 256 5| 22 0 2 3 2 571 0 2 573 0
Hrafed SU FQed, Wrg ga JHwhRor (T

112 [yael) 4 4 347| 295 15 0 2 1 675 0 2 677 0
113 (A whe Ui 3 1 272| 228 11 0 1 0 0 517 0 8 525 0
114  Rr9TaRT &=a7 3R HIfSUC dlefol Ulel 4 3 125/ 158 1 0 0 0 294 0 7 301 0
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115  [RISTHTT VSR Plefol UIST  (Heg HI) 10 5 212 294 7 7 0 1 1 0 537 0 10 547 0
116 [RISTrg gvexk dlerel Ulsl (S09TT) 7 8 353| 297 1 9 0 0 2 0 677 0 5 682 0
117 |Rrer et SrferY wraters arer 4 8 382 238 2| 13 0 1 2 1 651 0 8 659 0
118  [wrgardt ufeddd whal drel 4 2 240 184 0 6 0 0 1 0 437 0 1 438 0
119  |y=i gvs e HEior fa9mT gre 10 1 187| 164 2 7 0 0 0 0 371 0 4 375 0
120  [Rrorerg wafie femera swdel 2 2 207 97 0 4 0 0 4 2 318 0 1 319 0
121 Rromorg yrafie faemera YaS! deell 5 2 146 62 4 0 1 1 2 1 224 0 6 230 0
122 Rty grerfde fdered AR @red 10 3 206| 222 5 8 1 3 2 1 461 0 10 471 0

RSO HA1 g4 AT faenned awarel

123 /7S 0 0 111 50 0 3 1 0 0 0 165 0 0 165 0
124 RooR STk qreafe [Jeray svars! 2 1 88| 174 5 7 0 1 0 1 279 0 1 280 0
125 Roon urefie faered shale 1 2 124 133 6 2 1 1 2 0 272 0 4 276 0
126 Rrorarg wrafe fdemerd dAia 1 1 134 82 2 2 1 2 4 1 230 0 3 233 0
127 Romora wrefie faerera Sarer afsara 0 1 115 96 3 1 1 4 5 0 226 0 1 227 0
128 [Rotorg urafie faermera I Acel 2 0 116 21 0 3 0 1 1 1 145 0 1 146 0
129 R SRR 8IS Whel Bl 0 1 138 66 5 1 1 2 7 3 224 0 2 226 0
130 [Rrotera wafie faerera dusy 0 0 89 88 1 1 0 3 2 0 184 0 0 184 0
131 Romorg wrefie faerea dRerR 0 1 86 46 2 0 0 1 0 4 140 0 5 145 0
132 [T 3UeR dloe URERIed &A1 1 3 264 97 10 3 0 3 10 3 394 0 9 403 0
133  [SaT gUeR dloiel GREREd B2 3 8 275 127 6 3 2 2 4 6 436 0 0 436 0
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134 (SRR B8 Wha TSl 2 1 257 137 13 2 2 1 3 0 418 0 4 422 0
135 |ffeR BfE Tqd  (SOTT) JFIRIST 8 3 140 82 2 3 1 3 2 0 244 0 7 251 0
136 |SffeR Bfs TR (S0WHT) STRIST 3 2 99 77 1 3 1 1 3 3 193 0 0 193 0
137 [Roora urifie faermers wRisT 0 1 57 21 0 2 2 0 0 0 83 0 2 85 0
138 R SRR BE Whel BIde] 1 2 155 70 2 3 2 2 6 0 243 0 1 244 0
139 Rrorer yrrfie faeme uarg 3 0 102 87 1 1 1 1 0 2 198 0 4 202 0
140  Rromorg wrafie faemera Rierer 0 1 66 45 3 3 0 0 1 0 119 0 0 119 0
141 [S=dT e} Blos, Sde] 3 1 95| 133 3 2 0 0 2 1 240 0 6 246 0
ST STk qreafiie f[deme
142 |SifsarernTa 4 4 188 148 6 0 1 4 2 2 359 0 3 362 0
143 RN SRR S Wha AR 3 3 196| 109 7 7 2 2 2 4 335 0 3 338 0
144 Ristar urIfHe faemerd qigerar i 3 7 177 84 3 4 2 4 1 1 286 0 7 293 0
145  Rrotera wrrfie faemera arfer 5 0 106 90 6 0 0 1 0 1 209 0 2 211 0
146 [Rotora wrfie faemera Raereft 0 0 99 37 1 0 0 0 1 0 138 0 1 139 0
147 RoR SRR B Wha STl 1 0 124 53 2 1 0 2 0 0 183 0 5 188 0
H AT 457 393 25125 18121| 542| 540 136 335 458| 197| 46304 of 552 46856 0
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